
STRONG FIX
DOUBLE HINGED DOOR

MACHINE GUARDING

88754540 ver. 002 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36908200

1/4

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D



Ø10 17 mm 5 mm13mm

www.troax.com

A
rt

 n
o

: 8
87

54
54

0 
ve

r. 
00

2 

2/4

Kit Strong fix Double hinged door

Bag for kit 8200 88698200

x2
20/30

x1x3
M8

x3
M8x35

Kit hinge Strong Fix 36908130

x2
M8

x2
M8x35

x2
20/30

x2x1

2

Kit Strong Fix Double door 36908200

x1 x1

x1

Kit 36908200

Washer Spacer 36700067



www.troax.com

A
rt no

: 88754540 ver. 002 

3/4

1

ST30 ST20

M8

M8x35

Kit hinge Strong Fix

13mm

5 mm

Kit hinge Strong Fix

2

Bag for kit 8200

M8

M8x35

3
13mm

5 mm

Kit 36908200



www.troax.com

A
rt

 n
o

: 8
87

54
54

0 
ve

r. 
00

2 

 4/4

76 8

Kit Strong Fix 
Double door +     
Bag for kit 8200

M8

M8x35

4

9

Kit hinge Strong Fix

Ø1017 mm 5 mm
Bolt + Washer spacer

5

14 mm

Kit 36908200

Max 30 Nm


